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uestion

1. This test consists of eight questions. 1, 4
2. /4

2. You must show all necessary steps of 3. /4
your solution to earn credit. 4. 14
3. The use of calculators is not allowed., : ;:
4. This test worth 8% of the total marks 7. /4
allocated to this course. 8. /4

Total Marks /32




Question 1: Graph: y= ZSin(x —-%) over one period. (4 Points)
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Question 2: Given the function:

y= 3sec(-2 - %J, find the period and the phase shift.

(4 Points)
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Question 3: If tanf= _—;-ande is in quadrant 11, find sin 6. ( 4 points)
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Question 4: Verify that the following equation is an identity:
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1+sin@ _ cos.B (4 Points)
cosé@ 1-siné@
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Question 5: Suppose that Aand B are angles in standard position, with sin 4 = T

§< A< zr,andcosB=;—?5’,7r <B <3—;r~.Findtan(A+B). (4 points)
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Question 6: Given :cosf = E and sinf < 0, find tan 26. ( 4 points)
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Question 7: Evaluate: cos(arctan 3 +arcsin 3] ( 4 points)
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Question 8: Solve:cos28=cos@ over the interval [0, 271'). ( 4 points)
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